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O
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LSE - 5 : PHYSIOLOGY

Time : 2 hours	 Maximum Marks : 50

Note : Use separate answer sheets for Part-I and Part-II. Be

brief and precise in your answers. Draw neat and labelled

diagrams, wherever necessary.

PART- I
ANIMAL PHYSIOLOGY

Note :	 Attempt any five questions. Question No. 1 is

compulsory.

1.	 (a)	 Choose the correct option : 	 1

Cardiac output equals :
Stroke volume divided by heart rate
Stroke volume multiplied by heart rate
Stroke volume added to the heart rate
Stroke volume subtracted from the
heart rate

(b)	 Fill in the blanks : 	 2
(i) The junction between the nerve end

and the muscles is called 	
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Hormone secretion is controlled by a
	 control mechanism.
In mammals the mature ovarian
follicle is called 	

(iv) Many insects store their excretory
products in the form of 	

(c) Match the items given in Column A with	 2
those given in Column B :

Column A Column B

(i) Sertoli cells (A) Fishes
(ii) Chloride cells (B) Defence cells
(iii) Calcitonin (C) Testes
(iv) Lymphocytes (D) Thyroid gland

Briefly explain the regulation of kidney function 	 5
by renin - angiotensin mechanism.

Describe the mechanism of gaseous exchange 	 5
during passage of blood and water in fish gill.

4.	 Differentiate between the following : 	 3+2=5
Nerve conduction in unmyelinated and
myelinated axons.
Homeotherms and Poikilotherms.

5.	 (a) Give a brief account of the mechanism of
blood clotting in human being. 	 3+2=5

(b) List three main mammalian gastro-intestinal
hormones and describe any one of them.
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6. (a)	 Name any one hormone secreted by pancreas
and state its one function.	 1+4=5

(b)	 Write a short note on the Sliding filament

re)	 theory of muscle contraction. Draw a well
labelled diagram illustrating the mechanism.
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PART - II

PLANT PHYSIOLOGY

Note :	 Question No. 1 is compulsory. Attempt any four

questions from Question No. 2 to 6.

1.	 (a)	 Choose the correct option :	 1/2x2=1

K + absorption can be competitively
inhibited by (sodium/rubidium).

Zinc - deficiency enhances the
degration of (RNA/RNA polymerase).

(b)	 Fill in the blanks :	 1x2=2

In an atmosphere devoid of Ni gas,

the enzyme nitrogenase catalyses the
production of only 	

The effect of red - light could be
completely reversed by_
light.

(c)	 Write the term used for the following
statements :	 1x2=2

The flow of solutes from source to sink
due to pressure gradient.

A plant that requires exposure to
darkness more than the critical period
for flower induction.
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(a) Name and define three factors that	 3
determine the value of water potential of a
plant cell.

(b) How do plants respond to toxic substances ? 	 2

Describe the Calvin cycle in photosynthesis with	 5
the help of a suitable diagram.

Describe the role of plant hormones in agriculture 	 5
and horticulture.

(a) With the help of a suitable example, define 	 3
the terms growth, differentiation and
development.

(b) What is photo respiration and why is it	 2
called "necessary evil" ?

6.	 Write short notes on any two of the following : 21/2x2=5

Nodule formation in a leguminous root.

Cytokinins

(c) Senescence
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